BARNES® Series 5CU-1, 7CU-1
Universal/Electric Driven

www.cranepumps.com

BARNES * PROSSER - CROWN SERVICE PARTS

MODEL PART NO.

5CU-1 019130

7CU-1 018902

@ PumpCatalog.com Questions?|Call 1-800-810-1053

Manual: 022568

I Continued 2>

CRANE | PUMPS & SYSTEMS sEcTioN 42

DATE 5/06

A Crane Co. Company  USA: (937) 778-8947 - Canada: (905) 457-6223 - International: (937) 615-3598


Manufacturer's Edge
Draft

https://www.pumpcatalog.com/barnes/cce-series/7cu-1/
https://www.pumpcatalog.com/barnes/cce-series/5cu-1/
https://www.pumpcatalog.com/barnes/cce-series/5cu-1/
https://www.pumpcatalog.com/barnes/cce-series/7cu-1/

Series 5CU-1, 7CU-1 BARNES@
Universal/Electric Driven

www.cranepumps.com

BARNES * PROSSER - CROWN SERVICE PARTS

PARTS KIT
Seal Kit ............ P/N: 120742 (+)3, 4, 9, 10, 11, 16, 17, 22b
ITEM QTY. PART No. DESCRIPTION
1 1 018874 Shaft  Stainless
2 1 017805 Pedestal
3 1 018878 T Slinger Buna-N
4 1 017713 t O-Ring
5 3 002201 Hex Hd Screw  1/4-20 x .625” Lg, Steel
6 3 002601 Lockwasher 1/4” Steel
7 1 017807 Bearing
8 1 017807 Bearing
9 1 018873 T  Shaft Seal C/CIN
10 1 017064 T  Shim, .010
11 1 017109 T  Shim, .005
12 1 018094 Impeller 4.87” Dia
15 1 018095 Volute
16 2 017715 T  Volute Pin
17 1 017714 T Volute Gasket
18 1 018097 Body 5CU-1
023723 7CU-1
19 3 018924 Stud 3/8-16 x 1.50” Lg, Stainless
20 3 018926 Lock washer 3/8”, Stainless
21 3 15-23-1 Hex Nut 3/8-16, Stainless
22 1 017718 Check Valve Assy
22A 1 001338 Weight 2.50” O.D.
22B 1 017712 T Gasket Neoprene
22C 1 20-13-1 Lock Washer 1/4” Stainless
22D 1 023469 Round Hd Screw 1/4-20 x .625” Lg, Stainless
22E 1 001339 Weight 1.56” O.D.
23 1 018099 Suction Flange 5CU-1
018100 7CU-1
24 3 018931 Stud, 5CU-1 5/16-18 x 1.25” Lg, Stainless
018925 Stud, 7CU-1 5/16-18 x 2.25” Lg, Stainless
25 1 003204 Pipe Plug 1.75” NPT
26 1 003206 Pipe Plug 1.25” NPT
27 3 018435 Shim 3" 0.D., Bronze
28 1 018434 Bearing Cap
29 1 005017 Key 3/16 Sq. x 1.63” Lg
30 3 15-19-1 Hex Nut 5/16-18, Stainless
Order Online: www.PumpCatalog.com
End

ol CRANE | PUMPS & SYSTEMS

DATE 5/06

A Crane Co. Company ~ USA: (937) 778-8947 - Canada: (905) 457-6223 - International: (937) 615-3598


Manufacturer's Edge
Draft

https://www.pumpcatalog.com/barnes/cce-series/5cu-1/
https://www.pumpcatalog.com/barnes/cce-series/7cu-1/
https://www.pumpcatalog.com/barnes/parts-series/120742/



